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Part A is compulsory which carries 25 marks. Answer all questions in Part A. Part B
consists of 5 Units. Answer any one full question from each unit. Each question
carries 10 marks and may have a, b, ¢ as sub questions.

PA,RT' .......
' . ! ; (25 Marks)
e I What are the respons1b111t1es of a kernel? 2] -
b) Mention the functionality of the following commands grep, uniq, sort. [3]
¢) Define the terms: root directory, home directory, parent directory. 2]
d) Differentiate between advisory locking and mandatory locking. [3]
e) Name the advantages of vfork() over fork( ) system call. 2]
DISCUSS l(lll( ) and ra1se( ) system calls brleﬂy R P 31. .

..-"Com:pare named’ p1pe FIF. and unnamed Plpes TN ; S
i)  Write down the differences between stream sockets and datagram socket [2]
j)  Explain the system call used to destroy a shared memory segment. (3]

[5+5]
OR
With an example script explain the differences between ‘for’ and ‘foreach’ statements.
Explam how debuggmg can be done ina shell SCl’lpt [5+5]

( latwe mer1ts and_.

":drawbacks :
OR
5. Write the syntax of the following system calls and explain with an example code.
a) rewinddir( ) b) seekdir() [5+5]

What js.a zombie process.¢ and explam how, it may mamfest itself? .
Ment1on the 51m lariti k en a. Chlld p"‘ eSS and its parent

/process.. o [5+5] ™

7.a)  Explain various exit statuses with an example program.
b) What are the signals that are not ignored or blocked? Explain the reason behind it. [5+5]




Describe various APIs used to implement client/server communication between two
unrelated processes in a system using FIFOs with an illustrative example code.  [10]
OR

Giye the description of Vatious fie}ds in'thé: permission structure of IPC.
(‘,:Det‘sg'}fipﬁhe opgfatfqﬁg__gfgsemog(:")"i\/\im__g{_’s}ample;;@“‘f‘){c’a,g{g@. L [5+5}, .
How a shared memory model implemented to achieve IPC? Explain briefly. [10]
OR

Explain briefly about the following socket APIs with clear syntax:

a) socket( ) b) bind( ) [5+5]
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